
4

13mm

Tools10

1 4

18

5mm

10

2

9

17

3

Bits 1/4"2,5mm

13

12

11

5

18

5mm
2,5mm

Kit 7810/7830 Dorma Panic Bar Left

980   door leaf L=798 mm
1180 door leaf L=998 mm

Ant.
1
1
1
2
1

2
10
3

Pos QTY. Benämning Art.nr
1 1 Dörr UX450 P 2100x980 L/R 36098100
2 1 Lås Dorma EC 00022432
3 1 Vinkel 260x34 Euro 36700005
4 1 Fylln.plåt UX 980 PB 89042286
5 1 Låsstolpe 70x30x2 L=2100 PB 

Dorma 36701120
6 1 Fäste Dorma paniköppnare 36700120
7 1 Knopp Dorma C 00023205
8 1 Cylinder euro dubbel 00012236
9 2 Mutter M8 Tensifl. Din 6923 89050525

10 1 Paniköppnare Dorma  Vä 89041012
11 6 Bult M5x10 MC6S 89056125
12 2 Bult M6S M8x35 89050042
13 2 Bult M5x16 MF6S 89050136
14 6 Mutter M5 locking Nyloc 89050516
15 2 Skruv MFT-GF M5x12 89050013
16 1 Skruv MF6S M6x55 89056248
17 10 Skruv självb. 4,2x13 20500300
18 3 Skruv M6S M8x35 89050042

 
 

 

88754498

00
04

99
20

Sm
ar

Te
am

 ID
: 

Article no.: www.troax.com

Follow Me

0.1


	Sheet2
	Drawing View3
	Drawing View7
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View12
	Drawing View15
	Drawing View16
	Drawing View18
	Drawing View19
	Detail View E (1 : 1)
	Drawing View25


